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QUESTION 1

Suppose that you created a new Process class in your model and performed a build generated command. 

What do you need to do next? 

A. Implement the methods in the generated impl version of the class. 

B. Copy the generated impl class from the build/svr/gen/temp folder into the impl package. 

C. Implement the modeled methods in the base class. 

D. Create a new class in the impl package. 

Correct Answer: D 

 

QUESTION 2

Consider the entity and struct shown in the model: 

A. Type=SampleEntity1, Shadow Type=Key 

B. Type=SampleStruct1, Shadow Type=unspecified 

C. Type=SampleStruct1, Shadow Type=Key 

D. Type=SampleEntity1, Shadow Type=unspecified 

Correct Answer: A 

 

QUESTION 3

Which two statements about port-processing informational messages are true? (Choose two.) 

A. The INFORMATIONAL element is used to display the messages. 
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B. failOperation() is called to return the messages. 

C. Messages can be logged using the setLoggable method. 

D. Messages are added with type InformationalElement.InformationType.kError. 

E. Informational messages must be converted to a list of structs before they are returned to the client. 

Correct Answer: AB 

Reference: https://www.ibm.com/support/knowledgecenter/SS8S5A_7.0.0/com.ibm.curam.content.doc/
WebClientReference/r_WEBCREF_Reference1Informational1.html 

 

QUESTION 4

You want to add a custom operation to an out-of-the-box entity. 

Which action should you perform in RSA? 

A. Add a generalization between the two entity classes. 

B. Add an aggregation between the two entity classes. 

C. Add an assignable between the two entity classes. 

D. Create a new entity class with the same name as the base entity class. 

Correct Answer: B 

 

QUESTION 5

Which two statements about domain plug-ins are true? (Choose two.) 

A. They are associated with domain definitions via domain definition property in RSA. 

B. They are inherited from parent domain definitions. 

C. They perform validation checks defined as domain definition properties. 

D. They are implemented by using JSP Scriptlets. 

E. They execute in the EJB container. 

Correct Answer: AD 
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